ToPolotla E 4EOMETR( DIFFEREN2(ALE
wedChio propaimma

Prova snlte dl

48 Gtnnaio- 2@,2

3 :
@) w R faw Xz o2
.» ax ol oY

@ (e ,2 A 70 ,4\170'7 e 6610\/'/*0\ o e heto
% = LXQQ‘J’Z “+ d(fz

4 Xdz JM?_ : Defeamcnane K N oo (},(
| o ' ><a( %I(L\ @1 (éfl’(\n% PL‘ 3{ )
N
@ Tn {l?O/Q’?Q(] Cramo Bl
- T
Clotae [X, 7] € Bfcinmae o 0 mode O
[Xx,yJ=0 - Ddfa 4= IX,¥> e’
( Bsly. mAdurts. o X, Y ) Xx up“[ x,éyif

Fyoven e Z( ()M‘@ (,/M.A‘-J{ﬁ? e %\P‘L( "N “2';

T o0 a 5 o 7o e Al |
Le '\n“ypgf(& venme okl qreflamenfe g tﬁx/\w@




_ 2
O[‘)X T= Of,}(@L) %}& @B/y & dz

——
Pro—

Tngfapo ,
(veichio programmi)

X = *3
2%
- 2,262 542
= a
T oo oY

- 2\g 2 6 d2
+ 2 ’(X(iaa)@'ay
T2 a%z@) %’((927)@%
2 @& 2 dx
NI a?t®@7 ®o£)<

X288 2gd: - A 2@2ad?
ox oY S o 0y

+— 0 +0 = O

BXT:Q

= gxdl?‘ Dk, K Wod 9 the X o
o B Lilling

=]



- X
Vv 5y s Z
o Ay
2.2 . = f(xdy dy'
"[)X (o dlj o + (jw(xdy
X .
= ;)Ld;)_/\_;é3 d)(z 4 JLZ(OZ (dx)yda + 0’%&[0’)&)
rye \\
ol 2 = d[xw]= ’I'[Oé 03;]
= 9 " da + o 2
= dl 3 0<LXJ 'dJ{
J o Ao

L AT

= 9 t 44_0(] d112

=> X qu().wa =y o =-4






